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QUESTION 1

An administrator is deploying multiple Windows 2003 Virtual Machines from the same template. What two steps should
be taken to avoid network conflicts? (Choose two.)

A. Customize the guest operating system.

B. Install VMware Tools into the new virtual machines.

C. Copy the Microsoft Sysprep tools onto the vCenter Server system.
D. Ensure the e1000 vmnic is selected for each new virtual machine.
Correct Answer: AC

https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.vm_admin.doc/GUIDF3E382AB72F6-498A-
BD26-7ECOBFE320A0.html

QUESTION 2

An administrator is configuring the Failover Order option on a vSphere Distributed Switch. Which two options should be
used with IP-hash load balancing? (Choose two.)

A. Active Uplinks

B. Standby Uplinks

C. Unused Uplinks

D. Override Failover Order

Correct Answer: AC

QUESTION 3

Users of an application are reporting performance issues. The following performance values are observed
in the vSphere Web Client:

What could be the cause of the application performance issue?

A. The host is lacking the CPU resources required to meet the demand.

B. The host is lacking the memory resources required to meet the demand.

C. The virtual machine is lacking the CPU resources required to meet the demand.

D. The virtual machine is lacking the memory resources required to meet the demand.
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Correct Answer: A

QUESTION 4

Which two SMTP Notification Event Details are specific to alarms triggered by events? (Choose two.)
A. User Name

B. Summary

C. Old Status

D. Target

Correct Answer: AB

QUESTION 5

What is true regarding datastores on ESXi 6.x?

A. NFS 4.1 datastore does not support Fault Tolerance (FT)

B. VMFS3 and VMFS5 datastores can be newly created

C. NFS datastore can be concurrently mounted using NFS 4.1 on one host and NFS on another
D. NFS 3.0 datastore does not support Fault Tolerance (FT)

Correct Answer: B

Latest 2V0-602 Dumps 2V0-602 Study Guide 2V0-602 Braindumps

Latest 2V0-602 Dumps | 2V0-602 Study Guide | 2V0-602 Braindumps 3/3


https://www.geekcert.com/2v0-602.html
https://www.geekcert.com/2v0-602.html
https://www.geekcert.com/2v0-602.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-602.html
https://www.geekcert.com/2v0-602.html
https://www.geekcert.com/2v0-602.html

